Q1.  A temperature difference of 25 K is equal to: (Ans: a difference of 45 on the Fahrenheit Scale.)

Q#2 In a constant-volume gas thermometer, the pressure is 0.019 atm at 100 degrees Celsius. Find the temperature when the  pressure is 0.027 atm. (Ans:  257 degrees Celsius). 

Q3. The volume of 1.00 kg water is 958.38 mm3 at a temperature of 10.0 (C and 999.73 mm3 at temperature of 100.0 (C. Calculate coefficient of volume expansion for water in that range of temperature. (Ans: 4.79 × 10-4/ C()

Q4. A square hole 8.00 cm along each side is cut in a sheet of metal. If the temperature of the sheet is increased by 50 K, the area of the hole increases by 0.11 cm2. Find the coefficient of linear expansion α of the metal (Ans:17.2 x10-6 oC -1)

Q5 When the temperature of a sphere is raised by 75 degrees Celsius the sphere’s volume increases by 6.9*10** (-5) m**3.If the original volume is 1.8*10**(-2) m**3, find the coefficient of linear expansion of the sphere. (Ans: 1.7*10 -5  C()

Q6 Calculate the amount of energy, in Joules, required to completely melt 130 g of lead initially at temperature of 15.0 degrees Celsius. Melting point of lead = 328 degrees  Celsius, latent heat of fusion of lead = 2.32*10**4 J/kg and the specific heat of lead = 128 J/kg/K. (Ans: 8.22*103). 

Q7 How much heat is required to melt ice of mass 500 g at -10  deg C to water at 0 deg C? (specific heat of ice, c, = 2220 J/(kg.K); heat of fusion of ice, Lf, = 333*10*3 J/kg ) (Ans: 1.78*10**5 J ) 
Q8. 500 g of steam at 100 oC lose 1.180×106 J of heat. Calculate the final temperature? Heat of vaporization of water is 2.256 ×106 J/kg, heat of fusion is 333 kJ/kg, and the specific heat of water = 4.19 kJ/kg K.  (Ans:75 oC )

Q9 What mass of steam initially at 100 oC that can be mixed with 160 g of ice at 0 oC in a thermally insulated container to produce liquid water at 40 oC. (Ans: 32 g) 

Q10 Fifty grams of ice at zero degrees Celsius is placed in a thermos bottle containing 100 grams of water at 6.0 degrees  Celsius. How many grams of ice will melt? (Ans: 7.5 grams)
Q#11: In a P-V diagram, a system of an ideal gas goes through the process shown in figure 2. How much heat is absorbed after the system goes 100 times through the cycle? (Ans:  300 J) 
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Q12. A gas expands from a volume of 2.00 m3 to a volume of 6.00 m3 along two different paths as shown in Fig 2. The heat added to the gas along path IAF equals 1.68 × 106 J. Find the heat added during path IF. (Ans: 
1.48 × 106 J)
[image: image3.png]Pix 10° Nim®)

2.00

1.00

E
B

4.00 6.00

2.00




Q#13. The figure 1  below shows an aluminum and iron rods joint together. The rods have the same cross section and their sides are insulated. In the steady state, find the temperature T3 at the far end of the iron rod. The thermal conductivity of aluminum is 235W/mK and for iron is 14 W/mK.(Ans:302 oC)
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